	Převody jednotek - opakování 
1) Převeďte:e) 0,75 dm =	                m
f) 3 000 mm =  	                km
g) 65 km =	                m
h) 700 cm = 	                km
a) 8 m =		                 cm
b) 0,57 dm =	                 cm
c) 0,2 m =		     dm
d) 7 km = 	  	    m








2) Převeďte:a) 48 m =		    dm
b) 6 700 mm =	                m
c) 0,095 km =	                dm
d) 700 dm =	                m

e) 60 m =		    mm
f) 0,03 m =		    dm
g) 3,15 cm =  	                 m
h) 8 000 dm =	                 m

                     





3) Převeďte:
a) 580 g  =		  kg
b) 740 kg =                      q
c) 7,5 g =		              mg
d) 25 dkg =		  g
e) 150 g =	          dkg
f) 530 mg =	          kg
g) 0,1 kg =	          dkg
h) 4,2 t =  	          q






4) Převeďte:
a) 30 dkg  =	            kg
b) 50 kg =          	            q
c) 450 mg =	           g
d) 15 dkg =	           g
e) 0,025 kg =	         mg
f) 30 g =	                     kg
g) 0,5 kg =	         dkg
h) 850 q =  	          t





	5) Převeďte:                                                       Podpis: ……………………………….
 a) 530 mm2 =		     dm2           f) 1,52 km2 =	  	        m2
 b) 0,6 dm2 =		     cm2                 g) 61 cm2 =	   	       dm2
 c) 400 000 cm2 =	                 m2                   h) 2 200 m2 = 	                   km2
 d) 500 m2 =		                 dm2               i) 0,009 m2 =	                  cm2
 e) 8 dm2 =		                mm2               j) 0,17 dm2 =	   	      cm2
6) Převeďte:
   a) 5 m2 =		               cm2             f) 0,25 dm2 =	                  mm2
   b) 6,7 dm2 =	              cm2            g) 40 000 m2 =  	                 km2
   c) 0,4 m2 =		              dm2           h) 0,82 km2 =	                  ha
   d) 0,6 km2 =		   m2             i) 7,2 a =	                               m2
   e) 0,9 cm2 =	              m2            j) 209 m2 =	                   ha
7) Převeďte:
a) 530 mm3 =		   cm3         f) 1,2 hl =	        	                   l
b) 0,9 dm3 =		  cm3         g) 690 cm3 =	                  dm3
c) 700 000 cm3 =                    m3        h) 23 000 mm3 =                  dm3
d) 3,2 m3 =		            dm3           i) 0,04 l =		                 ml
e) 0,7 dl =		             l                j) 0,0008 km3 =	                 m3






    




